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Background
One open issue for this test is test setup, two options are listed as follows:
	· Agreements for RAN WG4 Meeting #98-bis-e
· Details of Test setup and test method
· Option 1 (Baseline solution, GTW #98-bis-e agreement)
· TE randomly transmit ACK or DTX on each PSFCH resource with equal probability
· AT command adopted for this test case based on current available solution.
· Option 2 (new option)
· In every slot, TE transmits one of the two following options (1) all ACK (2) one NACK and all the rests are ACK
· UE decodes all the PSFCH to decide PSSCH ReTx. For (1) no reTx; for (2) ReTx 
· Test metric: TE can verify whether UE successfully detect all the PSFCH by reTx received or not. If UE reTx behavior is correct, this slot is a “successful slot”. The requirement can be defined by “successful slot” exceeding 90%/99% or higher.



In this paper, we will give our discussions on this issue.
[bookmark: OLE_LINK86]Discussions
[bookmark: OLE_LINK88][bookmark: OLE_LINK92][bookmark: OLE_LINK93][bookmark: OLE_LINK37]For option 2, since there is no noise added in the test, only possible error is that UE don’t have enough processes. Therefore, if at least one PSFCH is miss detected at one slot, it can be determined UE don’t have the capability of decoding such number of PSFCHs.  As static channel model without noise is used, we think only two possible results can be obtained in the test: 
a) UE don’t have the capability, UE will retransmit all the PSSCH.
b) UE have the capability, UE will not retransmit any PSSCH. 

[bookmark: OLE_LINK3]Hence, the actual probability of PSSCH transmission is 0 or 100%, the two results can be obviously distinguished. Therefore, we think Option 2 is feasible. The minimum requirements can be defined that the ratio of PSSCH retransmission shall not exceed 1%
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]We agree that not introducing the metric of DTX to ACK since there is no noise existing and it has been introduced in PSFCH performance tests.
[bookmark: OLE_LINK4]Proposal 1: Use Option 2 for PSFCH decoding capability test.
Proposal 2: Minimum requirements can be defined that the ratio of PSSCH retransmission shall not exceed 1%
Conclusion
In this contribution, we give our discussions on V2X decoding capability test. The proposals are:
Proposal 1: Use Option 2 for PSFCH decoding capability test.
Proposal 2: Minimum requirements can be defined that the ratio of PSSCH retransmission shall not exceed 1%

